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o PV AT B T fF 5T FT-97 7 JRT I 24 7T 797 38 &

Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYI FIT P TV VG @ FXT @ YEw, F97 F HHH ST [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o de Tel A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o OHTES ST Ul To FIT-FH YT A [ferd) Wl To F SR TG G T Z8 o 7
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % IV 37 @ g4 F FAREd FC @ F Je7-97 [ T @& 8, ThEr # ITT 59
T § #ig 4 @ w@hwre Tl HAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(i) @ 7T ST &
(i) 39 g97-99 & 7 38 797 &, fF G @Sl T, @, @ v Fae wE

G 9’ 57 G T g97 G 1 720 TF F7 i o7 &1 J9F T 1 57F F 8

g€ q: 7 G 7 g97 g 21 @ 25 T A WA T & AT IoT 2 STH

&8 q Z/}@#wv aer 26 @ 31 TF FT & F97 8 g9F F97 3 OfH
g% T : g;z/avgﬁwva@rsz @ 35 7% %7 G 597 81 J9% F97 5 S #
g% 7’ : ?Wﬁwvmss @ 38 T FT AT J97 81 J9% 597 4 S F
(iii) Wysv—ysvag‘@awa?#eﬂﬁﬁ%@wﬁ#v@?/WW##C@'@WW

&1
(iv) 7 73 1% Q97 B 97 FAC-GRAH % G HT9T Tl Hifor)
(v) I 997 G S9H FaR-YiaHl & FHI% a9 [

General Instructions :

() All questions are compulsory.
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(i) This question paper consists of 38 questions, which are divided into five
Sections : 'A’, 'B', 'C', 'D' and 'E":

Section A’ :

Section B':

Section 'C':

Section D' :

Section 'E' :

It contains twenty questions from 1 to 20. Each question
carries 1 mark.

It contains five questions from 21 to 25. Each question carries
2 marks.

It contains six questions from 26 to 31. Each question carries
3 marks.

It contains four questions from 32 to 35. Each question carries
S marks.

It contains three questions from 36 to 38. Each question
carries 4 marks.

(iii) Internal choices are given in some questions of this question-paper. You have
to attempt one from each.

(iv) You must attach the given graph-paper along with your answer-book.

(v) You must write your answer-book Serial No. on the graph-paper.

qrs — |
SECTION - A

1. A FC 6 N ha demel & @eed 8 @ f: N - N, fin) = 2n+ 3 V ne NaX
IR T B ©, A f © ’

(A) TS
(C) Ul BT

(B) %
(D) FH & & Tl

Let N be the set of natural numbers and the function f: N — N be defined by
fin)=2n+ 3V ne N, then f is:

(A) Surjective
(C) Bijective

1232/(Set : A)

(B) Injective
(D) None of these

P.T.0O.
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2. sin™'2x & Wid ® : 1
(A) [0, 1] B) [-1, 1]
11
() [—5,5} (D) [-2, 2]

The domain of sin~! 2x is :

@ [0, 1] ® [1,1]
© [—%ﬂ D) [-2,2]

3. #lic 3 x 3% | G MRl i Fe&Al, Pl Fedeh Hiafee 2 41 0 &, Bl ¢ 1
(A) 9 B) 27
(C) 81 (D) 512

Total numbers of possible matrices of order 3 x 3 with each entry 2 or O, are :

A) 9 (B) 27
(C) 81 (D) 512
4. 7% |* 2:‘6 Q‘Q,Eﬁxw%: 1

18 x| |18 6

(A) 6 (B) 6

(C) -6 (D) O

If x 2 :‘6 , then xis equal to :
18 x| |18

(A) 6 (B) *6

(C€) -6 (D) O

1232/(Set : A)
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5. A A, 3 x 3 HT B Fehaolg & ogE &, A |adj. A| FAFE .covveennnnnn | 1
Let A be a non-singular square matrix of order 3 x 3. Then |adj. A| is equal
[0 .
6. x % AU sin(log x) P TTHAA % 1
cos(logx
(A) (2g )
X

(B) cos (log x

cos(log x)
x

(€)

(D) ¥ | ®§ &

The derivative of sin(log x) w. r. t. x is:

cos(log x)

)C2

(A)

(B) cos (log x)

© cos(log x)
x

(D) None of these

7. cos x B T sin x Bl TTHAT wevenenn.n.. %l 1

The derivative of sin x w. r.t. COS X 1S .ceovvvvvennnn. .

1232/(Set : A) P.T.O.
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8. Iex sec x(1+ tan x)dx TEK © : 1

A) e*cosx+c
(A)
B) e*secx+c
(B)
(C) e*sinx+c
(D) e*tanx+c

Iex sec x(1 + tan x)dx is equal to :

(A) e*cosx+c

(B) e*secx+c

(C) e*sinx+c

(D) e*tanx+c

n/2
0. jsin5xdx25rrn=rw% .............. | 1
-n/2

n/2
The value of '[ sin® x dx is equal to .................. .
-m/2

1232/(Set : A)
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10. 39 x% +y? =2 I s & H &A%q W ©

(A) 4n T T
(B) 2v2n & 3@
(C) 4n® T T
(D) 2n T AR

The area enclosed by circle x? + y2 =2 isequal to:
(A) 4m sq. units

(B) 2V/2n sg. units

(C) 4n? sq. units

(D) 27m sq. units

22
11. o a1+ Y :d—zy%aﬁwzaﬁﬁfaﬁ?w%:
dx dx?

A) 1,2 B) 2,2

< 2,1 D) 4,2

1

2
2
The order and degree of the differential equation [1 + (il—dz] } = % respectively

are :
A) 1,2 B) 2,2
) 2,1 (D) 4,2

1232/(Set : A)
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12, STT%HA THHT x%—y=sinx B TAHRAT o6 (LF.) oo 2l 1

Integrating factor of the differential equation x% —yYy=sinxis .....o...ene. .

13.waﬁﬁuaﬁm&ﬁ@ww%ﬁs|8|=3aﬁ?|3|=€,aﬁ3x2@qﬁzﬁ

ARy R, AR @ R p F I B BT E 1
T T
A) — B =
(A) 6 (B) 2
T T
Cc) — D =
(€) 3 (D) >

- - - - \/5 I

Let the vectors a and bsuchthatlal=3and|b|=?,then axp is a
: . - -
unit vector, if angle between a and p is:
T T
A) — B =
(A) 6 (B) P
T s
C) — D) =
(€) 3 (D) 5

14. 3% GRT g =2i+Aj+k T b=i+2j+3k b (orthogonal) &, @ A H TW

T e, | 1
If the vectors a =2i + Aj+k and b=i+ 2j+3k are orthogonal, then the value of
Ais coeveinnnnnn. .

1232/(Set : A)
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15. STRIST (V) & x-S1er H1 TG & ¢ 1

A) x=0,y=0
B) x=0,z=0
(C) x=0

D) y=0,z=0
The equations of x-axis in space are :
(A) x=0,y=0

B) x=0,z=0

(C) x=0

D) y=0,2z=0

16. I G H TH AST IV AT &, o T T W 9 9T &I U B Bl Mihar
.............. 2l 1

The probability of obtaining an even prime number on each die, when a pair of

dice is rolled is ............. .

17. @ 44 ¥ 5 @ qun 3 Aeht W ¥ AR 3 W aga o wfoeemw & Ml o €, @
T T @ T B 8 & e @l Tl ... zl 1

A bag contains S red and 3 blue balls. If 3 balls are drawn at random without

replacement, the probability of getting exactly one red ball is ........... .

1232/(Set : A) P.T.O.
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18. AN & 52 T H AT Bl g& R TS | A W s dfeq e s 8 &
T & T BN B MAEA B | 1

Two cards are drawn from well shuffled deck of 52 playing cards with

replacement. The probability, that both cards are queens is ............... .

SIRBYT TF FIXT STERT 597 -
eIl g7t (19 7 20) 7 & F97 & - oif¥eT (A) v &9 (R), 757 % #7 Ry 77

GYGFT [aeT F FIT FXG U T G -

Assertion-Reason Based Questions :

In the following questions (19 & 20) there are two statements : Assertion (A) and

Reason (R), answer the question by choosing the appropriate option given below :

19. SI%YT (A): G99 A = {1, 2, 3, 4, 5} W URAMNT 9 R = {(a, b); |a - b| < 2}
©IA (reflexive) B 1

PR (R) : el 9= A W IR €8 R @A (reflexive) FBART 8, AR (a, b) € R
T (b, Je R ¥ (a, 0 € R < Bl

(A) SIBTT (A) Td HROT (R) A TEl & T PR (R), STHAT (A) I G 2 2
(B) TP (A) Td HROT (R) A &l & T BRI (R), ST¥HA (A) 1 T e 781 2

(C) IR (A) eI B, Fheg ®ROT (R) o ol

(D) SIRFREE (A) TG &, g HROT (R) &I B

1232/(Set : A)



20.

(11) 1232/(Set : A)
Assertion (A) : Arelation R={(a, b); |a— b| < 2} defined on the set A ={1, 2, 3, 4, 5}

is reflexive.

Reason (R) : A relation R on the set A is said to be reflexive if for (a, b) € R and

(b, ¢ € R, we have (a, ¢ € R.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

ST (A) : T @l x2+1=y;2:213 T XII:UEQ:Z_; % a9 & B9

90° Bl 1
FRT (R): fawaaela el i ol § Rod Y@ & o gurr o) ufeeRdt &
(A) ST (A) Td HROT (R) IS T8l & T BR (R), SRS (A) 3 Hel & 2
(B) SN (A) Td &1 (R) AT &l & qo &R (R), SIHHAT (A) B T&l AR & B

(C) omREE (A) &I 8, g FRT (R) T B

(D) SIRFREE (A) TG &, g HROT (R) &I B

1232/(Set : A) P.T.O.
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x+1 y-2 z+3 and
S 4

Assertion (A) : The angle between the straight lines

x-1 y+2 z-3 :
1 2 -3

s 90°.

Reason (R) : Skew lines are lines in different planes which are parallel and

intersecting.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

quE - q

SECTION-B

qﬁ?’ﬁﬁlﬂﬁ;f:R—)R,ﬂx)=sian€ITg:R—>R,g(x)=x2§RTtlﬁ‘34Tiﬁﬁ%,Fﬁfog
q&T gof S oy fREEy % 2

fog # gof

Let f: R — R be defined by f{x) = sin x and g : R — R be defined by g(x) = x2,
then find fog and gof. Show that :

fog # gof

1232/(Set : A)
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M FId I

cos™! l +2sin l
2 2

Find the value of :

cos™! l +2sin” l

2 2
0  sin®
22, A A=| °° SIRY & d e @ B 2
—sin® cos 9
AA=1T

0 in 6
If A= [ o8 S }, then verify that :

—sin® cos®6

AA=]
23. x % Gy FaHAT HOT 2
4 [1-cosx | = T
tan , —<X<—
( 1+cosxj 4 4
1232/(Set : A) P.T.O.
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1 /1—cosx T T
tan — |, —<Xx<-—
l+cosx ) 4 4

Differentiate w. r. t. x:

2
24, TN HINT {6 BAT xy = log y + ¢ THA THIBT %zly—,(xyil) HEA Bl 2

Verify that the function xy = log y + c is a solution of the differential equation

dy _ y?

J(xy #1).
dx  1-xy (xy #1)

YqT
OR

STIHT FHIHT %:(1+x2)(1+y2) & AGH & 5T BT

Find the general solution of differential equation Ey =1+ x2)(1 + y2).

25. P(A U B) 5T iR, ZIﬁ2P(A)=P(B)=% aﬁTP(A/B)=§|

Evaluate PAu B), if 2P(A) = P(B) = % and P(A/B) = %

1232/(Set : A)
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1232/(Set : A)

SECTION-C

26. fag FIfM % e Bl & 9= A ¥, R = (1), T,) ; T, 9999 8 T, %} &N Rwia

Hdg R ©F JoI G99 ol

3

Show that the relation R defined in the set A of all triangles as R = {(T;, T) ;

T} is similar to T5}, is equivalence relation.

YqT

OR

FfeiRad wee B aaaq &9 § faRae

tan_1[3a2x -X

a0 "% cxc @
a® -3ax? | &) J3

Write the following function in simplest form :

1 3a’x—x3 -a a
tan =5 ,a>0;—=<x<

a” —3ax

4 -2 0)

IfA:3 -2 andI:1
4 -2 0

1232/(Set : A)

27. IR A:[3 _2} ax I:F

NERRNE

ﬂ,vhﬁs A’ =KA-2I 3, @ K & 99 & FicE 3

ﬂ, find K, so that A2 = KA-2I.

P.T.0O.
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28.

29.

30.

(16) 1232/(Set : A)

K cos x T
K % A S $INI, i Jad B f(x)={ T 2X %ﬁr—gx_fq-{
3 , " x== 2
2
Had B 3
K cos x T
f x#—=
Find the value of K, so that the function f(x)= T—2x 72t

. ) I
is continuous at x = 5

T AR, S e NAHR @l o, B gRacasia %(2x+1) T x B AN M B
qREde @l X AT Hifo 3

A balloon, which always remains spherical, has a variable diameter %(2x+1).

Find the rate of change of its volume with respect to x.

THIH I 3

I vtan x

——dx
sinx .cos x

Integrate :

I vtan x

——dx
sinx .cos x

e

OR

1232/(Set : A)
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TR BT
1
dx
Ix(x4—1)
Integrate :
| 1
x(x4—1)
31. A3 p 3 FIOM, AR (20 + 6 +27k)x({ +Aj +pnk)=0 | 3
Find A and p, if (2 +6] +27k)x(i + A +pk)=0.
gos - §
SECTION - D
32. f=fafad s TfieT FeE & orege Y § &d #ifl : 5
2x+y+z=1;
_ 3.
x-2y—z= 5’
3y—-5z=9
1232/(Set : A) P.T.O.
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Solve the following system of linear equations, using matrix method :
2x+y+tz=1;

3
xX-2y—-z= —;
Y 2
3y—-5z=9
33. HfRaa Mived 9qas & 5 3d il ¢ 5
T

4
j log(1 +tan x) dx
0

Evaluate the following definite integral :

log(1 +tan x) dx

O —pa

STeET
OR

dHgd 9x2 +4y? =36 ¥ BR & 1 &G 51 HoT
Find the area of the region bounded by the ellipse 9x? + 4y? = 36.

34. @, & afewr e Frafarad 8, & d" @ gAad g0 @ B 5

=1+2j+3k+Mi —3j +2k)

AR 7:4f+5]+6l€+u(25+3j'+1€)
Find the shortest distance between the lines whose vector equations are :
7 =1+2]+3k+Mi—3]+2k)
and 7 =4i+5) +6k+u(2i +3] +K)

1232/(Set : A)
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OR
@, R afke wieer Fefafed ¥, & 99 @ He g a9 S

%
r =

(1—t)i +(t-2)] +(3—2t)k

AR 7 =(s+1)i +(2s-1)j-(2s+1)k
Find the shortest distance between the lines whose vector equations are :

F=(1-t)+(t-2)]+(3-20k
and 7 =(s+1)i +(2s-1)j - (2s + 1)k

35. 1 3l & SR z = 5x + 10y H FATHHT FoT SABTHIHRT HIfTC - 5

x+2y<120,x+y=260,x-2y=20,x=20,y=0
Minimize and maximize z = 5x + 10y subject to constraints :
x+2y<120,x+y=260,x-2y=20,x=20,y=0

qug - 9
SECTION - E

36. A Bl RO % TIA & SIRTIA % 90 81 o & Ha qo Bdn HA A T r &)

1232/(Set : A) P.T.O.
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SURFT AMHN & MR IR FHfgd 9991 & Sa &g :

() rdXRD 99 GEg xd T A ford 1

(i) o F T VAl RAR x& W 7 [ 1

(iii)ﬁ@rs’qﬁsmgwa@wamﬁaﬁw% 2
Jgar

qﬁngqmﬁgemama:r V SR B, T VT SAiaH 99§ i 9 909
P AT AHT &, T G & AT T N & ARG H AW TG Ho@ 2

Let a cone is inscribed in a sphere of radius R. The height and radius of cone are
h and r respectively.

A B

On the basis of above information, answer the following questions :
(i) Write the relation between r and R in terms of x.
(ii) Write the volume V of the cone in terms of R and x.

(iii) Show that volume V of the cone is maximum, when x = §

1232/(Set : A)
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OR

If volume V of the cone is maximum at ng, then find the maximum

value of V and find the ratio of volume of cone and volume of sphere, when

volume of cone is maximum.

37. % @ & 50 K S=at & Qe e e ot 31 i 2 &9 @ &) I J=di bl g
% TR & P g el feme T8 1 R 9wiE & fd 0% oY =i &l Nl H GAh
& ST g B AR e & ofd q& el Bl S &l T8 BNH, SHH STIAM STadhe HHIET

il—d)yczx(SO—y)%aaﬁwuql ST Tl 8, STET x HdEl i e B I ¥ A y 37 a=Ar
P GEA H qWr & B g & T R

ST S & YR IR FHfiagd 9991 & Sa¥ aielg -
(i) SO STIHA THIDBIT Bl Hifc s BT 1

1232/(Set : A) P.T.O.
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(i) Www%:uso-y)ﬁéaaﬁ%mﬁmﬁfaaﬁrwmww

g ? ’

(ili) STIRA THIBIOT %=M50—y)ﬁ3€fﬁﬁﬂl 2
T

I A = 0.049 AT y(0) = 0, Tl TAHA THIHIOT H AR B SN PRI 2

Polio drops are delivered to 50 K children in a district. The rate at which polio
drops are given is directly proportional to the number of children who have not
been administered the drops. By the end of 2nd week, half the children have
been given the polio drops. How many will have been given the drops by the end
of 3rd week can be estimated using the solution to the differential equation

%ZMSO_‘U)’ where x denotes the number of weeks and the y number of

children who have been given the drops.

Based on the above information, answer the following questions :

(i) State the order of the above differential equation.

1232/(Set : A)
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(i) Which method of solving a differential equation can be used to solve

dy
—~=M50-y) ?
.~ Mo0-Y)
(iii) Solve the differential equation :
dy
—= =50 -
.~ Mo0-Y)

OR

If A = 0.049 and y(0) = O, then find the particular solution of differential

equation.

38. UH T A R 3 sEl W, AT IR QA § T g7 a8 M@, AT AR A @
S B BT B GHAT HA: 30%, 25% AR 45% oi I, Afed X A= &) Jfe HH
P TRHAT HAM: 1%, 1.2% 3T 2% Bl

ST B %;ﬂ%wﬁﬂﬁﬁ"qﬁr%w':
() 997 ® BT B T I BN B F THAT HT i 2
(i) aR 9T B & R & a1 T 2 AR IEH FB (e B, A MiUmT TG oG 6
yeq Td R & Wel R T Bl 2
1232/(Set : A) P.T.O.
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In a school, teacher asks a question to three students Ravi, Mohit and Sonia.
The probability of solving the question by Ravi, Mohit and Sonia are 30%, 25%
and 45% respectively. The probability of making error by Ravi, Mohit and Sonia
are 1%, 1.2% and 2% respectively.

Based on the above information, answer the following questions :
(i) Find the total probability of committing an error in solving the question.

(ii) If the solution of question is checked by teacher and has some error, then
find the probability that the question is not solved by Ravi.

1232/(Set : A)
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Roll No. SET : B
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ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 80

o PV AT B T fF 5T FT-97 7 JRT I 24 7T 797 38 &

Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV VG @ FXT @ YEw, F97 F HHH ST [ord

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o de Tel A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 1232/(Set : B)
o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % IV 37 @ g4 F FAREd FC @ F Je7-97 [ T @& 8, ThEr # ITT 59
T § #ig 4 @ w@hwre Tl HAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) @ 7T ST &
(i) 3G F97-99 & 7 38 797 &, W G @Sl T, @, @ v F e wWE

G 9’ 57 G T g97 G 1 720 TF F7 i o7 &1 J9F T 1 57F F 8

g€ q: 7 G 7 g97 g 21 @ 25 T A WA T & AT IoT 2 STH

&8 q Z/}@#wv aer 26 @ 31 TF FT & F97 8 g9F F97 3 OfH
g% T : g;z/avgﬁwva@rsz @ 35 7% %7 G 597 81 J9% F97 5 S #
g% 7’ : ?Wﬁwvmss @ 38 T FT AT J97 81 J9% 597 4 S F
(iii) Wysv—ysvag‘@awa?#eﬂﬁﬁ%@wﬁ#v@?/WW##C@'@WW

&1
(iv) 7 73 1% Q97 B 97 FAC-GRAH % G HT9T Tl Hifor)
(v) I 997 G S9H FaR-YiaHl & FHI% a9 [

General Instructions :

() All questions are compulsory.
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(3) 1232/(Set : B)
(i) This question paper consists of 38 questions, which are divided into five
Sections : 'A’, 'B', 'C', 'D' and 'E":
Section 'A’' : It contains twenty questions from 1 to 20. Each question
carries 1 mark.

Section 'B': It contains five questions from 21 to 25. Each question carries
2 marks.

Section 'C' : It contains six questions from 26 to 31. Each question carries
3 marks.

Section 'D' : It contains four questions from 32 to 35. Each question carries
S marks.

Section 'E': It contains three questions from 36 to 38. Each question
carries 4 marks.

(iii) Internal choices are given in some questions of this question-paper. You have
to attempt one from each.

(iv) You must attach the given graph-paper along with your answer-book.

(v) You must write your answer-book Serial No. on the graph-paper.

gue - H
SECTION-A
1. x & 9y sin(logx)%fﬂﬂ%ﬁ%t 1
(log x)
(A) cosx;)gx
(B) cos (log x)
© cos(log x)
x
(D) & | & T
1232/(Set : B) P.T.O.
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(4)

The derivative of sin(log x) w. r. t. x is:

cos(log x)

x2

(A)

(B) cos (log x)
cos(log x)

x
(D) None of these

(€)

. cos x & N8 sin x HT TGhaIST

The derivative of sin x wW.r.t. cCOS X 1S .ceevvvveen.... .

. Iex sec x(1 + tan x)dx SEX © :

(A) e*cosx+c

(B) e*secx+c
(C) e*sinx+c

(D) e*tanx+c

Iex sec x(1 + tan x)dx is equal to :

(A) e*cosx+c
(B) e*secx+c
(C) e*sinx+c

(D) e*tanx+c

1232/(Set : B)
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(5) 1232/(Set : B)
n/2

4. IsinSxdxaﬁrqﬁw% .............. | 1
-n/2

n/2
The value of I sin® x dx is equal to .................. .
-m/2

5. g0 x? +y? =2 BN URESE & F &% TWEK B ¢ 1
(A) 4n T ZHE
(B) 2V2n T 3HE
(C) 4n* i 3
(D) 2n T AR

The area enclosed by circle x? + y? =2 is equal to :
(A) 4w sq. units

(B) 2421 sq. units

(@] 472 Sq. units

(D) 27m sq. units

a2 a2
G.WWW[H[—y”:—g%aﬁwaﬁﬁaﬁTw%: 1
dx dx
A) 1,2 B) 2,2
Q) 2,1 (D) 4, 2
1232/(Set : B) P.T.O.
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2
2
The order and degree of the differential equation [1 + [%j } = % respectively

are .
A) 1,2 B) 2,2
C) 2,1 (D) 4,2
7. STTHA THDHT x%—y:sinx P FAEHT T (LF.) oo, 2l 1

Integrating factor of the differential equation x% —Y=SINXiS .c.coevvnneni. .

8. TN Wi ARy @ R P 3@ YR & & |3|=3aﬁ1|3|=€,aaa’xz % qEh

Ry ®, AR o IR p D E AR 1
T T
A) — B =
B 2 B 7
T T
C) — D) —
© 3 (D) >
- - - - \V2 > -
Let the vectors a and bsuchthatlal=3and|b|=?,then axp is a
unit vector, if angle between a and 79) is :
T T
A) — B =
(B 2 B 7
T T
Cc) — D =
(©) 3 (D) 5

1232/(Set : B)
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9. 7} WY 8:2Z+kj+1€ = B:f+2j+31€ qife® (orthogonal) &, @ A & AW

RPN | 1
If the vectors a =2i + Aj+k and b=i+ 2j+3k are orthogonal, then the value of
Ais oo, .

10. ST (V) & x-OT&T 1 G & 1

A) x=0,y=0
B) x=0,z=0
(C) x=0

D) y=0,2z=0

The equations of x-axis in space are :
A) x=0,y=0

B) x=0,z=0

(C) x=0

D) y=0,z=0

11. 3T OE H TH AST IV A 8, O T I9 W 9 FAqY & W H Bl Miehar
.............. 2l 1

The probability of obtaining an even prime number on each die, when a pair of

dice is rolled is ............. .

1232/(Set : B) P.T.O.
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12. 6 d4 & 5 @ qun 3 Aol W ¥ AR 3 W agw o afoeemw & Ml o €, @
qeAd: T o T &l g & Meplas &l MR ... 2| 1

A bag contains S red and 3 blue balls. If 3 balls are drawn at random without

replacement, the probability of getting exactly one red ball is ........... .

13. A9 & 52 T H AA-AG Bl g§ Rl TeS @ A T Afedd dfed e S 81 &
T & T B B AR & L | 1

Two cards are drawn from well shuffled deck of 52 playing cards with

replacement. The probability, that both cards are queens is ............... .

14. 9 Wi 7% N g demmetl # g & A f: N — N, fin) = 2n+ 3 ¥V ne N &

IR TF BaT B, O f 8 ¢ 1
(A) STTEBTET (B) T
(C) Ul ST (D) T8 q Fig &

Let N be the set of natural numbers and the function f: N — N be defined by
fin) =2n+ 3V ne N, then f is:

(A) Surjective (B) Injective
(C) Bijective (D) None of these
15. sin™! 2x & Wi ® : 1
(A) [0, 1] (B) [-1,1]
11
C -, = D) [-2,2
(©) [ 5 2} (D) [ ]

1232/(Set : B)
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The domain of sin™! 2x is :

11
(€) [—5, 5} (D) [-2, 2]
16. FifC 3 x 3% TN T el B ded), Sl Tl Jiafte 2 a1 0 &, & ¢ 1
(A) 9 (B) 27
(C) 81 (D) 512

Total numbers of possible matrices of order 3 x 3 with each entry 2 or O, are :

(A) 9 (B) 27
(C) 81 (D) 512
17. ax |~ 2=‘6 Q‘Q,Eﬁxemrﬂ%: 1
18 x |18 6
(A) 6 (B) *6
(C) -6 (D) O
If x 2=‘6 2,thenxisequa1to:
18 x |18 6
(A) 6 (B) *6
(C) -6 (D) O
1232/(Set : B) P.T.O.
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18. TR A, 3 x 3 e H JehAolg T EE &, A |adj. A| F AT & «oovevvnnnnn. | 1
Let A be a non-singular square matrix of order 3 x 3. Then |adj. A| is equal
[0 S .
I TF BT SITENRT 797

=T g7t (19 7 20) 7 & F97 & © oif¥eT (A) 9T &I (R), 757 % #7 Ry 77

GYJFT [3%eY # FI7 FXq §T TV § -

Assertion-Reason Based Questions :

In the following questions (19 & 20) there are two statements : Assertion (A) and

Reason (R), answer the question by choosing the appropriate option given below :

19. SRFYT (A) : YT @l x;:y;Q:Z;S T xl—lzy;rQ:z—SS % a9 & B9

90° Bl 1
FRT (R): fawHacld Y@ e oot § Re Yamd &t & o g9mar o afaeR<r 8l 2
(A) ARFET (A) Td BRI (R) AT T8 & J& HROT (R), MBS (A) & & B

(B) SN (A) Td &1 (R) AT &l & q& R (R), SIHHAT (A) B T&l AR & B

(C) IR (A) &I B, Ry ®ROT (R) o ol

(D) SR (A) TAA 8, g BT (R) Tl 2

1232/(Set : B)



20.

(11) 1232/(Set : B)

x+1 y-2 z+3 and
S 4

Assertion (A) : The angle between the straight lines

x-1 y+2 z-3 ;
1 2 -3

s 90°.

Reason (R) : Skew lines are lines in different planes which are parallel and

intersecting.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

YT (A) : =/ A = {1, 2, 3, 4, 5} W URWINT &4 R = {(a, b); |a - b| < 2}
EdA (reflexive) 2l 1

FRY (R) : el T A W IR €9 R @ (reflexive) FBART 8, A (a, b) € R
@ (b, )e R ¥ (a, 0 € R Bl

(A) SIBTT (A) Td HROT (R) AT TEl & T PR (R), STHAT (A) I G 2 2
(B) SN (A) Td &1 (R) AT &l & q& B (R), SIHHAT (A) B T&l AR & B

(C) oimREE (A) 21 8, fhrg ®RT (R) T B

(D) SIRFFEE (A) TG &, g HROT (R) &I B

1232/(Set : B) P.T.O.
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(12) 1232/(Set : B)
Assertion (A) : Arelation R={(a, b); |a— b| < 2} defined on the set A= {1, 2, 3, 4, 5}

is reflexive.

Reason (R) : A relation R on the set A is said to be reflexive if for (a, b) € R and

(b, ¢ € R, we have (a, ¢ € R.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

qug -

SECTION - B

21. x & | JTHAT BIOT : 2

1 /1—cosx T T
tan — |, —<Xx<—
l+cosx ) 4 4

Differentiate w. r. t. x:

1/ [1-cosx | w™ T
tan 1/— , —<X<—
l+cosx ) 4 4

1232/(Set : B)
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2
22. TG T 6 BT xy = log y + ¢ ATHA THIHL %:ﬂ J(xy#1) FMET 8l 2
- Xy
Verify that the function xy = log y + c is a solution of the differential equation
dy __y*
— =1
T 1% (xy )-
AYAT
OR
D FHIH %=(1+x2)(1+y2) I AU & FI DI
Find the general solution of differential equation lex (I+x )(1 +y )
23. PlAU B) T %I, A 2P(A) = P(B) = — aﬂ? P(A/B) = % 2
. 5 2
Evaluate PAu B), if 2P(A) = P(B) = 13 and P(A/B) = 5
24, A AL f: R> R, fiy =sin xTWM g: R > R, g(x) = x> & IRAMT B, @ fog
T gof T S fdEEy & - 2
fog # gof
Let f: R — R be defined by fix) = sin x and g: R — R be defined by g(x) =
then find fog and gof. Show that :
fog # gof
1232/(Set : B) P.T.O.
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25.

26.

(14) 1232/(Set : B)

AN 3T DT

cos™! l +2sin” l
2 2

Find the value of :

cos™! l +2sin7! l
2 2
A a=| 50 S0 5 S genfm R 2
—sin® cos 9
AA=1
0 ino
If A= CO,S S , then verify that :
—sin® cos 9
AA=1
qus -9
SECTION-C

’ClﬁA=[j :2}@11{1 ﬂ,aﬁﬁsA%KA—zI%,a‘rK%rqﬁramﬁﬁm 3

3 - 1 0
If A= 2 and I = , find K, so that A% =KA-2I.
4 2 0o 1

1232/(Set : B)
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Kcosx

27. K & WM ¥ #0m,  afs W WAl flog=q To2X

i%Fggng W Had 2

Find the value of K,
} ) i
is continuous at x = 5

28. THGAT HiT :

Integrate :

U difoTT

1232/(Set : B)

3

Kcosx

so that the function f(x)= T—2x

3

I Jtan x

Sin X .cos x

dx

I Jtan x dx

sinx.cos x

YqT

OR

1
I x(x4 -1)

RIS

if

Download from www.MsEducationTv.com

P.T.0O.



29.

30.

31.

(16) 1232/(Set : B)

Integrate :

1
JTl)dx

x(x

w%@gagﬁ?ﬁﬁw%cm/sﬁa?%a@@%Wwwﬁmﬂ@raﬁsw
g, &% Bl 1.5 cm B 3

The radius of an air bubble is increasing at the rate of %cm /s. At what rate is

the volume of the bubble increasing, when the radius is 1.5 cm.

A IR p ST BN, AR (20 + 6 + 27K)x (i +Aj +pk)=0 | 3

Find A and p, if (2{ + 6 + 27k)x(i +Aj +pk)=0.

frs #ifoTe T e Bl & @==@ A 8, R = (T}, Tp) ; T, 99%9 & T, &) &R GG
Hdg R Th oIl d9Y B 3

Show that the relation R defined in the set A of all triangles as R = {(T;, T) ;

T} is similar to T5}, is equivalence relation.

YqT
OR

frfaRea % @ g3y &9 § fafeu ¢

tan-l[3¢7x-x| o -a_ _a
a® -3ax? | V3 J3

1232/(Set : B)
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(17)

Write the following function in simplest form :

a’ —3ax

1 3a’x - x3 -a a
tan | ———[,a>0;,—=<x<—

B
gug - g

SECTION - D

32. f=fcied e qumeres @ 99 S i
%
Ilog(l + tan x) dx
0
Evaluate the following definite integral :

n
4
I log(l + tan x) dx
0

YqT
OR

dHgd 9x2 +4y? =36 ¥ BR & 1 &G s HoT

1232/(Set :

Find the area of the region bounded by the ellipse 9x? + 4y? = 36.

33. W, Fa afkw whew fFefaied €, & " @ Ea g0 F[ S

—
r

=1+2j+3k+Mi —3]+2Kk)

M 7 =4i+5]+6k+n2i+3j+k)

1232/(Set : B)

B)

P.T.0O.
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Find the shortest distance between the lines whose vector equations are :

N
r

=1 +2j+3k+Mi —3j +2k)
and 7 =4i+5)+6k+u2i +3j+K)

3TeE

OR

@, e afer wier fFefafed B, & 9= @ A g 9 S
7=

(1—t)i +(t-2)] +(3—2t)k

M 7 =(s+1)i +(2s-1)j - (2s + 1)k

Find the shortest distance between the lines whose vector equations are :

%
r =

(1—t)i +(t—2)] +(3-2t)k

and 7 =(s+1)i +(2s-1)j - (2s + 1)k
34. fr=ffed W gfiew Fem & aege fafy @ &q &

2x+y+tz=1;
3

xX-2y—-z= —;
vmrT o

3y—-5z=9

1232/(Set : B)
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Solve the following system of linear equations, using matrix method :

2x+y+z=1;
3

xX-2y-z= —;
75

3y—-5z=9

35. /= gl & SFRIT z = Sx + 10y P FATHHT TN ARBTHIRL HifoT 5
x+2y<120,x+y=260,x-2y=20,x20,y=0
Minimize and maximize z = 5x + 10y subject to constraints :

x+2y<120,x+y=260,x-2y=20,x=20,y=0

qug -7

SECTION - E

36. UF o § 50 K g=A I Gicrdl g R el 81 Nl g 39 @ &Y 37 q= ) ged
% G & e i el e T8 21 W AwiE & ofd 9% oY = A N H G
& S gH B AR R D AT T el B I & TS BN, SHH AN SFAHA FHIHT

%:k(SO—y)%wﬁwww%,aﬁxw@aﬁﬁwﬁa&ﬁm%eﬁyﬁﬁﬁ

& G B guar @ B gt & T R

1232/(Set : B) P.T.O.
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ST TSN & SR 9 H=fRad ueHt & Sa¥ i ¢

(i) SN STIHA THIBT Bl HifC T BT 1

(i) Waﬁw%ﬂ(m—y)aﬁwmﬁ%mﬁwﬁﬁwwmww

g7 1

(i) WWUT%:MSO—y)EﬁWWI 2
ST

I A = 0.049 T y(0) = O, T TAHA THIHLT F [ARME &F 3T DT 2

Polio drops are delivered to 50 K children in a district. The rate at which polio
drops are given is directly proportional to the number of children who have not
been administered the drops. By the end of 2nd week, half the children have
been given the polio drops. How many will have been given the drops by the end
of 3rd week can be estimated using the solution to the differential equation
ﬂ:7»(50—y), where x denotes the number of weeks and the y number of

dx
children who have been given the drops.

1232/(Set : B)
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Based on the above information, answer the following questions :

(i) State the order of the above differential equation.

(i) Which method of solving a differential equation can be used to solve

dy
=2 —M50-y) ?
z ( yY)

(iii) Solve the differential equation :

dy
—Z =\(50 -
l ( 7)

OR

If A = 0.049 and y(0) = 0, then find the particular solution of differential

equation.

1232/(Set : B) P.T.O.
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37. Uh T 7 R 3 wE W, AT X QA § Th g7 a1 @, AT R AR @
S B BT B HIGHAT HAL: 30%, 25% AR 45% oi @, Afed X A= &) e HH

P TRHAT HAM: 1%, 1.2% 3T 2% B

ST TMHN & SR W Fiigd 9940 & IaX g
() 997 ® BT B T I BN B F TAHAT HT i 2

(i) aR 9T B & R & el T 2 AR IEH FB (e B, T BT TG oG 6
997 T BN &9 el fRar W Bl 2

In a school, teacher asks a question to three students Ravi, Mohit and Sonia.
The probability of solving the question by Ravi, Mohit and Sonia are 30%, 25%
and 45% respectively. The probability of making error by Ravi, Mohit and Sonia

are 1%, 1.2% and 2% respectively.

1232/(Set : B)
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Based on the above information, answer the following questions :

(i) Find the total probability of committing an error in solving the question.

(ii) If the solution of question is checked by teacher and has some error, then
find the probability that the question is not solved by Ravi.

38. AT BT R TF MW & SI<HId T 9 o1 91 1 Ses qo Brod HAd: AT ra|

U MR & AR ) HHiad 9991 & SaX &g ¢

() rINRD I @Egx% W & [ 1
(i) 9% B AT VB RAX x & W § [ 1
1232/(Set : B) P.T.0.
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(iii)ﬁ@sqi%smgwa@wamﬁaﬁw% 2
T

qﬁx=§¢{$1{lgaﬁrw V SR B, T VT A 99§ S 9 909

H AT AHT &, T G & AT T A & AT F AW 7 Hio@ 2

Let a cone is inscribed in a sphere of radius R. The height and radius of cone are
h and r respectively.

On the basis of above information, answer the following questions :
(i) Write the relation between r and R in terms of x.
(ii)) Write the volume V of the cone in terms of R and x.

(iii) Show that volume V of the cone is maximum, when x = g
OR

If volume V of the cone is maximum at x:§, then find the maximum

value of V and find the ratio of volume of cone and volume of sphere, when

volume of cone is maximum.

1232/(Set : B)
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(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 80

o PV AT B T fF 5T FT-97 7 JRT I 24 7T 797 38 &

Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV VG @ FXT @ YEw, F97 F HHH ST [ord

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o de Tel A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % IV 37 @ g4 F FAREd FC @ F Je7-97 [ T @& 8, ThEr # ITT 59
T § #ig 4 @ w@hwre Tl HAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) @ 7T ST &
(i) 3G F97-99 & 7 38 797 &, W G @Sl T, @, @ v F e wWE

G 9’ 57 G T g97 G 1 720 TF F7 i o7 &1 J9F T 1 57F F 8

g€ q: 7 G 7 g97 g 21 @ 25 T A WA T & AT IoT 2 STH

&8 q Z/}@#wv aer 26 @ 31 TF FT & F97 8 g9F F97 3 OfH
g% T : g;z/avgﬁwva@rsz @ 35 7% %7 G 597 81 J9% F97 5 S #
g% 7’ : ?Wﬁwvmss @ 38 T FT AT J97 81 J9% 597 4 S F
(iii) Wysv—ysvag‘@awa?#eﬂﬁﬁ%@wﬁ#v@?/WW##C@'@WW

&1
(iv) 7 73 1% Q97 B 97 FAC-GRAH % G HT9T Tl Hifor)
(v) I 997 G S9H FaR-YiaHl & FHI% a9 [

General Instructions :

() All questions are compulsory.
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(i) This question paper consists of 38 questions, which are divided into five
Sections : 'A’, 'B', 'C', 'D' and 'E":

Section A’ :

Section B':

Section 'C':

Section D' :

Section 'E' :

It contains twenty questions from 1 to 20. Each question
carries 1 mark.

It contains five questions from 21 to 25. Each question carries
2 marks.

It contains six questions from 26 to 31. Each question carries
3 marks.

It contains four questions from 32 to 35. Each question carries
S marks.

It contains three questions from 36 to 38. Each question
carries 4 marks.

(iii) Internal choices are given in some questions of this question-paper. You have
to attempt one from each.

(iv) You must attach the given graph-paper along with your answer-book.

(v) You must write your answer-book Serial No. on the graph-paper.

qrs — |
SECTION - A

1. TS (QF) § x-o78 F FHiBT § 1

(A) x=0,y=0

B) x=0,z=0

(C) x=0

D) y=0,z=0

1232/(Set : C)
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The equations of x-axis in space are :
A) x=0,y=0

B) x=0,z=0

(C) x=0

D) y=0,z=0

2. I Gl H UH NS IV AT 2, O TP UG W 9 AT G T HA B Tl
.............. 2l 1

The probability of obtaining an even prime number on each die, when a pair of

dice is rolled is ............. .

3. 6 Y4 ¥ 5 @@ a3 i A T AR 3 W agwAr oA dforerew & el S 8, @
qeAd: T o T &l g & Meplas &l MR ... zl 1

A bag contains 5 red and 3 blue balls. If 3 balls are drawn at random without

replacement, the probability of getting exactly one red ball is ........... .

4. T B 52 W H -G B g8 R TGS F A T AR dfed e S 81 ami
T & T BN B MAEA B | 1

Two cards are drawn from well shuffled deck of 52 playing cards with

replacement. The probability, that both cards are queens is ............... .

5. M diC 6 N 9 Semet & @@ & A f: N - N, fin) = 2n+ 3 V ne N &

IR TF BaT B, O f 8 ¢ 1
(A) B (B) %
(C) THH! SIS (D) T8 q Fig &

1232/(Set : C)
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Let N be the set of natural numbers and the function f: N — N be defined by
fin)=2n+3V ne N, then f is:

(A) Surjective (B) Injective
(C) Bijective (D) None of these

6. sin!2x % U B : 1
@ [0, 1] ® [1,1]
© [—%ﬂ D) [-2,2]

The domain of sin~! 2x is :

(A) [0, 1] B) [-1, 1]
11
©) [—5,5} (D) [-2, 2]
7. @i 3 x 3% GH TG AE H e, Pl Tedh qdre 2 41 0 &, &Ff 1
A) 9 (B) 27
(C) 81 (D) 512

Total numbers of possible matrices of order 3 x 3 with each entry 2 or O, are :

(A) 9 (B) 27
(C) 81 (D) 512
1232/(Set : C) P.T.O.

Download from www.MsEducationTv.com



(6) 1232/(Set : C)

2l |6 2
8. 7 |~ = &, @ x SEK B 1
18 x| |18 6
(A) 6 (B) *6
(C) -6 (D) O
6
If x o2 = , then xis equal to :
18 x| |18
(A) 6 (B) 6
(C) -6 (D) O
9. AR A, 3 x 3 HIT H JeholT a0 A8 &, W |adj. A| B AT B .oooeennnnnn | 1

Let A be a non-singular square matrix of order 3 x 3. Then |adj. A| is equal

to e .
10. x % 9N sin(log x) M TFHAA g 1
cos(logx
(A) (2g )
X

(B) cos (log x

©) cos(log x)
x
(D) ¥ & B T

1232/(Set : C)
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The derivative of sin(log x) w. r. t. x is:

cos(log x)

x2

(A)

(B) cos (log x)
cos(log x)

x
(D) None of these

(€)

11. cos x & N sin x B TTHAT vevenennn.. %| 1
The derivative of sin x wW.r.t. COS X 1S .covvvvveen.... .

12. Iex sec x(1+ tan x)dx TEK © : 1

(A) e*cosx+c

(B) e*secx+c
(C) e*sinx+c
(D) e*tanx+c
Iex sec x(1 + tan x)dx is equal to :
(A) e*cosx+c
(B) e*secx+c
(C) e*sinx+c

(D) e*tanx+c

1232/(Set : C) P.T.0O.
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n/2

13. IsinSxdxaﬁrqﬁw% .............. | 1
-n/2

n/2
The value of J. sin® x dx is equal to .................. .
-m/2

14. 39 x2 +y? =2 BN NES & F &% T B ¢ 1
(A) 4n I FHE
(B) 2v2r & ZHE
(C) 4n° o TR
(D) 271 & THE

The area enclosed by circle x2 + y2 =2 is equal to:
(A) 4m sq. units

B) 2V/2n Sq. units

(@] 472 Sq. units

(D) 27m sq. units

a2 a2
15.%%[1%—5/”:—3%%%@%@?%%: 1
dx dx
A) 1,2 B) 2,2
Q) 2,1 (D) 4, 2

1232/(Set : C)
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2
2
The order and degree of the differential equation [1 + [%j } = % respectively

are .
A) 1,2 B) 2,2
€ 2,1 (D) 4,2
16. STTHA THIHI x%—y:sinx B THHRAT 6 (LF.) oo 2l 1

Integrating factor of the differential equation xil—di —y=sinxis .............. .

17. A AT @Ry o X 5 39 v & & |3|=3aﬁ1|3|=€,aaa’xz Th I

AR T, MW ad M pIITHATL 1
i i
A) = B) =
@ < ® 3
i T
C) — D) —
(©) 3 (D) >

- — - — \/5 - -

Let the vectors a and p such that |a| =3 and | b| = 3 then ax p is a
unit vector, if angle between a and T) is :
o oo
A) — B) —
® - ®
i T
Cc) — D =
(& 3 (D) >

1232/(Set : C) P.T.O.
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18. IR GRY a=2i+Aj+k T b=i+2j+3k di&®H (orthogonal) &, @ A & TH

B e, | 1
If the vectors a = 2i + Aj+k and b=i+ 2j+3k are orthogonal, then the value of
AiS v, .

ST TF BT SITENRT 79

eIl g7t (19 7 20) 7 & F97 & - oif¥eT (A) 9T &I (R), 757 % #7 Ry 77

GYGFT [T F FIT FXG U T G -

Assertion-Reason Based Questions :

In the following questions (19 & 20) there are two statements : Assertion (A) and

Reason (R), answer the question by choosing the appropriate option given below :

19. SIfgT (A) : 999 A = {1, 2, 3, 4, 5} W URHAMNT 9 R = {(a, b); |a — b| < 2}
©H (reflexive) 2l 1

PR (R) : el 9= A W IR €8 R @A (reflexive) FBART &, AR (a, b) € R
aqAq (b, g€ R @(a,c)eRW%-TI

(A) ARFET (A) Td BRI (R) A1 T8l & q°1 HROT (R), STHHS (A) B &l 2 B
(B) TP (A) Td HROT (R) A &l & T BRI (R), ST¥HAT (A) & T e 781 2

(C) IR (A) 2l B, Fheg ®ROT (R) o ol

(D) SIREREE (A) T0C &, g HROT (R) &I B

1232/(Set : C)
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Assertion (A) : Arelation R={(a, b); |a— b| < 2} defined on the set A= {1, 2, 3, 4, 5}

is reflexive.

Reason (R) : A relation R on the set A is said to be reflexive if for (a, b) € R and

(b, ¢) € R, we have (a, ¢) € R.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

20. SFFYT (A) : T @SR x;:y;Q:Z;s T xl_lzyf:z_; % a9 & B9

90° B 1
FRT (R): fawmaaela el R ol § Rod @ & o gurr o) ufeeRdt & ¥
(A) SIBTT (A) Td HROT (R) AT TEl & T PR (R), STHAT (A) I G 2 2

(B) SN (A) Td &1 (R) AT &l & T B (R), SITHHAT (A) B T&l AR & B

(C) IR (A) el B, Fheg RO (R) o ol

(D) SR (A) TAA 8, g BT (R) Tl 2

1232/(Set : C) P.T.O.
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21.

22.

(12) 1232/(Set : C)
+1=y—2=z+3 and
5 4

Assertion (A) : The angle between the straight lines ad

—1:y+2:z—3 ‘s 90°.
1 2 -3

Reason (R) : Skew lines are lines in different planes which are parallel and

intersecting.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

quE - q

SECTION-B

P(A U B) fiId &I, A% 2P(A) = PB) = — aﬁ? P(A/B) =

Evaluate PAu B), if 2P(A) = PB) = % and P(A/B) =

qﬁfvﬁﬁﬂﬁ;f:R—)R,ﬂx)=sinx("[€|Tg:R—>R,g(x)=x2§|'{'ftlﬁ‘3‘lﬁﬁ%,?ﬁfog
Tl gof S &MYl REmET &% : 2

fog # gof

1232/(Set : C)
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Let f: R — R be defined by f{x) = sin x and g : R — R be defined by g(x) = x?,
then find fog and gof. Show that :

fog # gof

3TeE

OR

AN 3 DT -

11 .
cos ' = +2sin

N |~

Find the value of :

cos™! l +2sin7! l
2 2

23. ?:ri%A:[Cose Sine} B, & Fefa Hifv B 2

—sin® cos6
AA=]

cos 0 sin©

If A= [ }, then verify that :

—sin® cos®6
AA=1]

1232/(Set : C) P.T.0O.
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24, x & HNUY JTHAT HIOT 2

1 /1—cosx T T
tan — |, —<Xx<—
l+cosx ) 4 4

Differentiate w. r. t. x:

1 /1—cosx T T
tan — |, —<Xx<—
l+cosx ) 4 4

2

25.wﬁaaﬁﬁmﬁs%ﬁxy=1ogy+cwww%=ly J(xy#1) BMET 8 2

Verify that the function xy = log y + c is a solution of the differential equation

2

dy _ y

J(xy #1).
dx  1-xy (xy #1)

CLC)|
OR
STaH FHIH %:(1+x2)(1+y2) & AYEH & 3G HITU

Find the general solution of differential equation % =1+ x2)(1 + y2).

1232/(Set : C)
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26. GHHAT HiT

Integrate :

U BifoTT

Integrate :

(15) 1232/(Set
gue -9

SECTION-C

I Jtan x

Sin X .cos x

dx

I Jtan x dx

Sin X .cos x

STeE

OR

1
Ix(x4 —l)dx

27. A3 WS HIOM, AR (20 + 6 +27k)x ([ +Aj +pnk)=0 |

Find A and p, if (2{ + 6, + 27k)x (i +Aj +pk)=0.

1232/(Set : C)

: C)

P.T.0O.
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28. g FINY % wed Bigsll & == A #, R = (T}, Tp) ; T,99%9 8 T, &} &N 9R«a

29.

Hg R T goodl &€ B 3

Show that the relation R defined in the set A of all triangles as R = {(T;, T5) ;

T} is similar to T5}, is equivalence relation.

YqT

OR

FIfeiRad ®ee B aaay &9 4 faRae

1 3a’x—x3 -a a
tan | ———[,a>0;,——=<x<—

a’ - 3ax? \/§ \/§

Write the following function in simplest form :

1 3a’x—x3 -a a
tan | —————[,a>0;,——=<x<—

a’ - 3ax? \/§ \/§

T TR, S ded AAHR @@ 2, T 99 8/ 900 cm® I9 9 qvS w6 A Sl
Bl TER & B & aRacd &l & I HIN, 9 B 15 em B 3

A balloon, which always remains spherical on inflation, is being inflated by
pumping in 900 cubic centimeters of gas per second. Find the rate at which the

radius of the balloon increases, when the radius is 15 cm.

1232/(Set : C)
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SO.HﬁA:F :ﬂaﬁ?I:F ﬂ,vhﬁsAQ:KA—zl%,a‘rKamwmzﬁm| 3

3 -2 1 0
If A= and I = , find K, so that A’ =KA-2I.
4 -2 0O 1

K cos x % T
31. K & AN 500 $IN, qih Sex B f(x)=4 T 2% %ﬁlr—gxzﬁw
3, MW x== 2
2
Had B 3
K cos x T
, f x#=
Find the value of K, so that the function f(x)={ ®~2% %
3 , if x==
2
: . T
1s continuous at x = 5
gug -7
SECTION-D
32. W, Fa afkw whe Fefiied €, & 9" @ FEa g0 F[ S 5
7 =1+2]+3k+Mi-3]+2k)
AR 7:4f+5]+6l€+u(25+3j'+1€)
Find the shortest distance between the lines whose vector equations are :
7= [+2j+3k+Mi—-3j+2k)
and ?:4f+5j+6l€+u(25+3]+15)
1232/(Set : C) P.T.O.
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33.

34.

(18) 1232/(Set

OR
@, e e wier frefafed 8, & 9= @ A g 9 S

%
r =

(1—t)i +(t-2)] +(3—-2t)k

AR 7 =(s+1)i +(2s-1)j-(2s+1)k
Find the shortest distance between the lines whose vector equations are :

F=(1-t)+(t-2)]+(3-20k
and 7 =(s+1)i +(2s-1)j - (2s + 1)k

Frr=tfeiie e wieer Feba &t orege Ry & & i -

2x+y+z=1;

Solve the following system of linear equations, using matrix method :

2x+y+z=1;

3
xX-2y-z= —;
Y 2
3y—-5z=9
FfaRea Mivea 9qees &1 59 3 S ¢
T

4
I log(l + tan x) dx
0
Evaluate the following definite integral :

log(1 +tan x) dx

O —pa

1232/(Set : C)
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g

OR

dHgd 9x? +4y? =36 & BR & #1 &% q B

Find the area of the region bounded by the ellipse 9x2 + 4y2 =36.

35. =1 EaQEl % SHI z = 5x + 10y 1 FAGHIHIT T SATABTHIRT HIC : 5
x+2y<120,x+y=260,x-2y=20,x=20,y=0
Minimize and maximize z = 5x + 10y subject to constraints :

x+2y<120,x+y=260,x-2y=20,x=20,y=0

qug -9
SECTION - E

36. U6 & ¥ R 3 8E W9, Aied R AfWa 8 ©F 9 d ol W9, At R @i &
S B BT B HIGHAT HAL: 30%, 25% AR 45% 8| I, Afed R A= g/ e HH
P TRHAT HAM: 1%, 1.2% 3T 2% B

1232/(Set : C) P.T.O.
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ST MBI & MR X Mg 9991 & Sa¥ il -

() 597 ® BT B T I BN B F TAHAT HA i 2

(i) aR 9T BN & Rred & el T 2 AR IEH FB (e B, A MiBD TG PHiog 6
9T X9 R &9 el fRar W Bl 2

In a school, teacher asks a question to three students Ravi, Mohit and Sonia.
The probability of solving the question by Ravi, Mohit and Sonia are 30%, 25%
and 45% respectively. The probability of making error by Ravi, Mohit and Sonia

are 1%, 1.2% and 2% respectively.

Based on the above information, answer the following questions :

(i) Find the total probability of committing an error in solving the question.

1232/(Set : C)
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(ii) If the solution of question is checked by teacher and has some error, then

find the probability that the question is not solved by Ravi.

37. A BT RO & A & SIRTIA % g 81 o H Ha qu B HAM A J 8|

T SR & SAER 9T feiag 999 & SaX i ¢

() rINRS I GEgx W & R 1

(i) 9% B AFE VA RAX xd Wi 7 fordhy 1

(ﬁi)ﬁ“@rﬁa’q%ngqwi'ogaﬁrarqﬁ:raﬁw% 2
ST

Zlﬁx=§tl'{$13§3b'[3ﬂ'€lﬁ:f V R B, A VR SAfiH 99§ S S 909
H AT AEHT &, T G & AT T A & AT H AW 7 Hio@ 2

1232/(Set : C) P.T.O.
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Let a cone is inscribed in a sphere of radius R. The height and radius of cone are
h and r respectively.

D

On the basis of above information, answer the following questions :
(i) Write the relation between r and R in terms of x.
(i) Write the volume V of the cone in terms of R and x.

(iii) Show that volume V of the cone is maximum, when x = g

OR
If volume V of the cone is maximum at ng, then find the maximum

value of V and find the ratio of volume of cone and volume of sphere, when

volume of cone is maximum.

38. UH Rl § 50 K = I Qicrdl S R el 81 Nierl $ieq a9 X I a=h ) geA
% T & R gi el e T8 21 g AwiE & ofd 9% oY g Al Nl H G
& S gH B AR R D AT T fhadl B I & T8 BN, THH AN AR FHIHTT

%:mo-w%sﬁﬁwmw%aﬁxwﬁaﬁﬁwqﬁa&ﬁm%aﬁ?ywaﬁﬁ

P G H AT @ N o & T B
1232/(Set : C)
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ST TSN & SR 9 H=fRad ueHt & Sa¥ i ¢

(i) SUNET STTHT THIHII Fl Hife G BT 1

(i) Waﬁw%ﬂ(m—y)aﬁwmﬁ%mﬁwﬁﬁwwmww

g7 1

(i) WWUT%:MSO—y)EﬁWWI 2
STt

I A = 0.049 TAT y(0) = 0, A TaHA THIHIT H AR A A BT 2

Polio drops are delivered to 50 K children in a district. The rate at which polio
drops are given is directly proportional to the number of children who have not
been administered the drops. By the end of 2nd week, half the children have
been given the polio drops. How many will have been given the drops by the end
of 3rd week can be estimated using the solution to the differential equation
il—‘byC:MSO—y), where x denotes the number of weeks and the y number of

children who have been given the drops.

1232/(Set : C) P.T.O.
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Based on the above information, answer the following questions :
(i) State the order of the above differential equation.
(i) Which method of solving a differential equation can be used to solve

dy
=L =M50-y) ?
, ( y)

(iii) Solve the differential equation :

dy
=Z =(50 -
z ( Y)

OR

If A = 0.049 and y(0) = 0, then find the particular solution of differential

equation.

1232/(Set : C)

Download from www.MsEducationTv.com



CLASS : 12th (Sr. Secondary) Code No. 1232
Series : SS/Annual Exam.-2024

Roll No. SET : D
T GRAPH
MATHEMATICS
[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 80

o PV AT B T fF 5T FT-97 7 JRT I 24 7T 797 38 &

Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYI FIT P TV VG @ FXT @ YEw, F97 F HHH ST [ord
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o de Tel A o SEvIEagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % IV 37 @ g4 F FAREd FC @ F Je7-97 [ T @& 8, ThEr # ITT 59
T § #ig 4 @ w@hwre Tl HAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) @ 7T ST &
(i) 3G F97-99 & 7 38 797 &, W G @Sl T, @, @ v F e wWE

G 9’ 57 G T g97 G 1 720 TF F7 i o7 &1 J9F T 1 57F F 8

g€ q: 7 G 7 g97 g 21 @ 25 T A WA T & AT IoT 2 STH

&8 q Z/}@#wv aer 26 @ 31 TF FT & F97 8 g9F F97 3 OfH
g% T : g;z/avgﬁwva@rsz @ 35 7% %7 G 597 81 J9% F97 5 S #
g% 7’ : ?Wﬁwvmss @ 38 T FT AT J97 81 J9% 597 4 S F
(iii) Wysv—ysvag‘@awa?#eﬂﬁﬁ%@wﬁ#v@?/WW##C@'@WW

&1
(iv) 7 73 1% Q97 B 97 FAC-GRAH % G HT9T Tl Hifor)
(v) I 997 G S9H FaR-YiaHl & FHI% a9 [

General Instructions :

() All questions are compulsory.
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(i) This question paper consists of 38 questions, which are divided into five
Sections : 'A’, 'B', 'C', 'D' and 'E":

Section A’ :

Section B':

Section 'C':

Section D' :

Section 'E' :

It contains twenty questions from 1 to 20. Each question
carries 1 mark.

It contains five questions from 21 to 25. Each question carries
2 marks.

It contains six questions from 26 to 31. Each question carries
3 marks.

It contains four questions from 32 to 35. Each question carries
S marks.

It contains three questions from 36 to 38. Each question
carries 4 marks.

(iii) Internal choices are given in some questions of this question-paper. You have
to attempt one from each.

(iv) You must attach the given graph-paper along with your answer-book.

(v) You must write your answer-book Serial No. on the graph-paper.

qug — A

SECTION - A

1. 90 x?+y? =2 SN URS 87 A §F%7 qaK © 1

(A) 4n T THE

(B) 242 a7 3HE

(C) 4n? T ZHE
(D) 27 & THE

1232/(Set : D)
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The area enclosed by circle x? + y? =2 is equal to :
(A) 4w sq. units

(B) 2V/2n Sq. units

(C) 4n? sq. units

(D) 2m sq. units

a2 a2
2.%%[1%-%}:—3%%%@%@?%%: 1
dx dx
A) 1,2 B) 2,2
C) 2,1 (D) 4,2

2

2
The order and degree of the differential equation [1 + [%j } = % respectively

are .
A) 1,2 B) 2,2
C) 2,1 (D) 4,2
3. ITHA THH x%—y:sinx P FAEHT T (LF.) coovrnnne. 2l 1

Integrating factor of the differential equation x% —Y=SINXiS .cocvenneni. .

1232/(Set : D)
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4.qmaﬁﬁnaﬁﬂa’aﬁ?@svw%ﬁs|a’|=3aﬁ1|3|=g,aaa’x3@w

R R, AR o R p B F=THE FTE 1
T T
A) — B =
(A) 6 (B) 2
T T
C) —= D =
(©) 3 (D) >

- — - — \/5 - -
Let the vectors a and bsuchthatlal=3and|b|=?,then axp is a

unit vector, if angle between a and _b> is :

(A) (B)

(€) (D)

wla ola
Nla ha

5. 3% GRY a=2i+Aj+k T b=i+2j+3k s (orthogonal) &, @ A & TH

B e, | 1
If the vectors a = 2i + Aj+k and b=i+ 2j+3k are orthogonal, then the value of
Ais oo, .

6. TN (V) § x-377 H THHT & 1

(A) x=0,y=0
B) x=0,2z=0
(C) x=0

(D) y=0,z=0

1232/(Set : D) P.T.O.
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The equations of x-axis in space are :
(A) x=0,y=0

B) x=0,z=0

(C) x=0

D) y=0,z=0

7. I G H UH NS IV T 3, O UdD UG UK Y AANY G T B Bl AT
.............. 2l 1

The probability of obtaining an even prime number on each die, when a pair of

dice is rolled is ............. .

8 T YA ¥ 5 @@ M 3 i A T AR 3 W agewAr fomn dfoeerow & et S 8, @
T T @l T B 8 & e @l Ml ... zl 1

A bag contains 5 red and 3 blue balls. If 3 balls are drawn at random without

replacement, the probability of getting exactly one red ball is ........... .

9. T & 52 T H WA Bel gg [ TgSN F A G AR ded e S 81 ami
T & B BB & | 1

Two cards are drawn from well shuffled deck of 52 playing cards with

replacement. The probability, that both cards are queens is ............... .
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10. W Wi 76 NV Sigha demstt # g & A f: N — N, fin) = 2n+ 3 ¥V ne N &N

qRYT T ®a §, o f R 1
(A) STEBTET (B) T
(C) Udl TSI (D) T8 § Fig &

Let N be the set of natural numbers and the function f: N — N be defined by
fin)=2n+3V ne N, then f is:

(A) Surjective (B) Injective
(C) Bijective (D) None of these
11. sin™'2x & 9T 2 1
(A) [0, 1] B) [-1, 1]
11
C -=,= D) [-2,2
©) [ 5 2} (D) [ |

The domain of sin~! 2x is :

(A4) [0, 1] B) [-1,1]
11
(©) [—5,5} D) [-2, 2]
12. HiC 3 x 3 & G TG IATeggl Hl e, Nl Tedsh Tiaree 2 41 0 &, &Rl : 1
(&) 9 B) 27
(C) 81 (D) 512
1232/(Set : D) P.T.O.
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Total numbers of possible matrices of order 3 x 3 with each entry 2 or O, are :

(A) 9 B) 27
(C) 81 (D) 512
2l |6 2
13. 3R |* - A x TWE D 1
18 x| |18 6
(A) 6 (B) *6
€ -6 (D) O
2l |6 2
If x = , then xis equal to :
18 x (18 6
(A) 6 (B) *6
€ -6 (D) O
14. 3R A, 3 x 3 & F FepAoNd 1 e 8, M |adj. A| B AT E covvrnnnnn | 1
Let A be a non-singular square matrix of order 3 x 3. Then |adj. A| is equal
to.ovviiiin .
15. x % QN sin(log A) & TaHAT 8 1
cos(log x)
(a) 20BN
X

(B) cos (log x)

©) cos(log x)
x
(D) = & H13 &

1232/(Set : D)
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The derivative of sin(log x) w. r. t. x is:

cos(log x)

)C2

(A)

(B) cos (log x)

cos(log x)
x

(€)

(D) None of these

16. cos x & TN sin x B TTHAT vevenennn.. %l 1

The derivative of sin X wW.r.t. COS X 1S .cevvvvveen.... .

17. Iex sec x(1+ tan x)dx SER § : 1

(A) e*cosx+c
(B) e*secx+c

(C) e*sinx+c
(D) e*tanx+c

1232/(Set : D) P.T.0O.
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Iex sec x(1 + tan x)dx is equal to :

(A) e*cosx+c

(B) e*secx+c

(C) e*sinx+c

(D) e*tanx+c

n/2

18. | sin® x dx Bl AN S & .oovennennn. | 1

-n/2
n/2

The value of .[ sin® x dx is equal to .................. .
-n/2

ORBeT Tq BT ST 797 -

=T 791 (19 7 20) § & &7 & : oif¥@erT (A) ST BT (R), 797 % #7 Ry 77

GYJFT [3%eY # 97 FXq §T TV @ -

Assertion-Reason Based Questions :

In the following questions (19 & 20) there are two statements : Assertion (A) and

Reason (R), answer the question by choosing the appropriate option given below :

1232/(Set : D)

Download from www.MsEducationTv.com



(11) 1232/(Set : D)

19. SRFYT (A) : YT @it xglzygzzzf’ T xl_lzy;Q:z_Ss % a9 & B9

90° Bl 1
FRT (R): fawmaela Y R ol § Red @ 2 o gurr o) ufereldt &
(A) ST (A) Td BT (R) AN T8l & T BRY (R), SRS (A) 3 T8l & 2

(B) AU (A) Td HRI (R) IAN! el & a9 BN (R), MBI (A) B Tl e 78 2

(C) IR (A) 2l B, by ®ROT (R) o ol

(D) SIREREE (A) T0C &, g HROT (R) &I B

x+1 y-2 z+3
5 4

Assertion (A) : The angle between the straight lines and

x—1=y+2=z—3 is 90°.
1 2 -3

Reason (R) : Skew lines are lines in different planes which are parallel and

intersecting.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

1232/(Set : D) P.T.O.
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20. ST (A): G = A = {1, 2, 3, 4, 5} W URNAMNT €4 R = {(a, b); |a - b| < 2}
©IA (reflexive) B 1

FR (R) : Pl 9= A W IR €8 R @A (reflexive) FBART 8, AR (a, b) € R
@ (b,de R ¥ (a, ¢ € R Bl

(A) ARFET (A) Td BRI (R) AT T8l & q°1 HROT (R), STHBS (A) B &l 2 B
(B) AR®YM (A) Td HRY (R) IN! el & a9 BN (R), MBI (A) B Tl e 78 2

(C) oimpEE (A) &I 8, g FRT (R) T B

(D) SIREFEE (A) T0C &, g HROT (R) &I B

Assertion (A) : Arelation R={(a, b); |a— b| < 2} defined on the set A ={1, 2, 3, 4, 5}

is reflexive.

Reason (R) : A relation R on the set A is said to be reflexive if for (a, b) € R and

(b, ¢ € R, we have (a, ¢) € R.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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gug - §

SECTION - B

2
21. GG FHINT B & xy = log y + ¢ S GHIHT %zly—,(xyil) B BT Bl 2

Verify that the function xy = log y + c is a solution of the differential equation

ay _ y?

= J(xy #1).
dx  1-xy (xy #1)

YqT

OR

ITaH THIBT %:(1+x2)(1+y2) & ATIH B T P

Find the general solution of differential equation lex 1+x )(1 +y?).

22. P(AuU B) §d &G, 3k 2P(A) = PB) = — aﬂ? P(A/B) =

Evaluate PAu B), if 2P(A) = P(B) = % and P(A/B) =

23. A ANT B f: R > R, fly = sin xTqM g: R > R, g(x) = x° & RN 2, @ fog
T gof A HiT| @R 6 : 2

fog # gof

1232/(Set : D) P.T.O.
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Let f: R — R be defined by f{x) = sin x and g : R — R be defined by g(x) = x2,
then find fog and gof. Show that :

fog # gof

3TeE

OR

M FId I

Find the value of :

cos™! l +2sin7! l
2 2

24, ?:ri%A:[Cose Sine} B, & Fefa Hifv B 2

—sin® cos®6
AA=]

cos 0 sin©

If A= [ }, then verify that :

—sin® cos®6
AA=]

1232/(Set : D)

Download from www.MsEducationTv.com



(15) 1232/(Set : D)
25. x & e Faha P : 2

1/ [1-cosx | w™ T
tan ‘/— , —<X<—
l+cosx ) 4 4

Differentiate w. r. t. x:

1+cosx
gig -4
SECTION-C
K cos x oo x;tE
26. K % AN FG HOWE, a6 W W f(x)={ T2X 725
3 , IR’ x==
2
T .
frg x =7 W F 2l 3
K cos x T
, if  x=#—
Find the value of K, so that the function f(x)= m—2x %
3 , if  x==
2
. . T
1s continuous at x = 5
27. THEHAT HINT : 3
I .\/tanx dx
sinx . cos x
Integrate :
I .\/tanx dx
sinx . cos x
1232/(Set : D) P.T.O.
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37T
OR
AT I
I 1
x(x4 -1)
Integrate :
J— g
X(x"=1)
28. A SN T FIOM, AR (21 + 6] +27k)x ([ +Aj +uk)=0 | 3

Find A and W, if (20 + 6] +27k)x (i +Aj + uk)=0 .

29. TF ReX T § % TR M@ Sl & X a<ff gt § 4 cm/s & T § @ &l o
gAmR T & Bl 13 em B, A1 39 &1, FRT goT &l fehareil <oil | 96 @1 © 7 3

A stone is dropped into a quiet lake and waves move in circles at a speed of 4 cm
per second. At the instant, when the radius of the circular wave is 13 cm, how

fast is the enclosed area increasing ?

30. s FIC & @7 Boll @ 9= A ¥, R = (T}, Tp) ; T, 9989 & T, &} &RI GRS
Hdg R Th oI G B 3

Show that the relation R defined in the set A of all triangles as R = {(T}, T,) ;

T; is similar to T,}, is equivalence relation.

1232/(Set : D)
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ST

OR

frfaRea %o @ gvaaq @9 § fafeu ¢

1 3a’x - x3 -a a
tan | ——= ,a>0;,—=<x<—
a” —3ax

3 2 \/g \/§

Write the following function in simplest form :

3 2 \/g \/§

1 3a’x - x3 -a a
tan | ———[,a>0;,——=<x<—
a” —3ax

31.?11?A:{3 :ﬂaﬁf{l ﬂ,vhﬁsAQ:KA—zl%,a‘rKamwmzﬁm| 3

3 -2 1 0
IfA:[ 2} and I:[O 1},ﬁndK, so that A2 = KA-2I.

4 —
qie -
SECTION-D
32. @Hgd 9x? +4y? =36 9 FR & & &% A BT 5
Find the area of the region bounded by the ellipse 9x? + 4y2 =36.

AYAT

OR
1232/(Set : D) P.T.O.
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frfeRea iYea Turees @& 99 S| i ¢

4
I log(l + tan x) dx
0
Evaluate the following definite integral :

n
4
J' log(1 +tan x) dx
0

33. W, Fra afkw e Fefied €, & 9" @ Eam g0 Fa S

(1—t)i +(t—2)] +(3-2t)k

M 7 =(s+1)i +(2s-1)j - (2s + 1)k
Find the shortest distance between the lines whose vector equations are :

7 =(1-t)i +(t-2)] +(3-2t)k

and 7 =(s+1)i +(2s-1)j - (2s+ 1)k

3TeE
OR

@, e e wie fFrefafed B, & d= @ A g 9 S

—
r

=1 +2j+3k+Mi —3j +2k)

AR 7:4f+5]+6l€+u(25+3j'+1€)
Find the shortest distance between the lines whose vector equations are :
%
r

=1 +2j+3k+Mi —3j +2k)

and ?:4f+5j+6l€+u(25+3]+1€)

1232/(Set : D)
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34. fFrfaied Was Tie Fem & o fafyr @ &q &

2x+y+z=1;
3

xX-2y—-z= —;
vrT o

3y—-5z=9

Solve the following system of linear equations, using matrix method :
2x+y+z=1;

3
xX-2y-z= —;
vmrT
3y—-5z=9
35. 1 gl & =R z = Sx + 10y Pl FATHHT T HABTHIBL HifoTT : 5
x+2y<120,x+y=260,x-2y=>20,x=20,y=0

Minimize and maximize z = 5x + 10y subject to constraints :

x+2y<120,x+y=260,x-2y=20,x=20,y=0

ge -4
SECTION - E
36. T fo & 50 K w=a & Qe g g ot 31 Giferdl g 39 &1 & I = &l e
% FUE @ R g 78 R T 31 g wwre & o a% oY Fed i B guw
& S g 81 AR e & ofd q@ Reael @l S &l T BN, S STIAM STadwhe HHIhT

%:Mw—y)%wﬁwwwiaﬁxw@aﬁﬁwﬁa&ﬁm%mywaﬁﬁ

B G H AT @ B o & T B

1232/(Set : D) P.T.O.
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ST TSN & SR 9 H=fRad ueHt & Sa¥ i ¢

(i) IR ke THIBIT & FHiic HT Hio 1

(i) Waﬁw%ﬂ(m—y)aﬁwmﬁ%mﬁwﬁﬁwwmww

g7 1

(i) WW%=M50—y)aﬁsﬁaﬁﬁm 2
T

I A = 0.049 AT y(0) = 0, T TaHA THIHIT H AR A A BT 2

Polio drops are delivered to 50 K children in a district. The rate at which polio
drops are given is directly proportional to the number of children who have not
been administered the drops. By the end of 2nd week, half the children have
been given the polio drops. How many will have been given the drops by the end
of 3rd week can be estimated using the solution to the differential equation
il—‘byczk(SO—y), where x denotes the number of weeks and the y number of

children who have been given the drops.

1232/(Set : D)

Download from www.MsEducationTv.com



1232/(Set : D)

Based on the above information, answer the following questions :

(i) State the order of the above differential equation.

(i) Which method of solving a differential equation can be used to solve

dy
—~=M50-y) ?
- M0~y
(iii) Solve the differential equation :
dy
—= =50 -
.~ Mo0-Y)

OR

If A = 0.049 and y(0) = O, then find the particular solution of differential

equation.

1232/(Set : D) P.T.O.
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37. U T 7 R 3 Al W, AT IR QAfE § w6 g7 a8 @, AT R A &
S B BT B GHAT HAL: 30%, 25% AR 45% oi I, Afed X A= g/ Jfe HH

P ARHAT HAM: 1%, 1.2% 3T 2% B

ST MBI & MR IR Mg 9991 & Sa¥ il -
() 997 @ B B H I B Bl FA WAl F il 2

(i) aR 9T BN & R & Srer T 2 AR IEH FB (e B, T BT TG BHiog 6
9T (T R &9 el fRar W Bl 2

In a school, teacher asks a question to three students Ravi, Mohit and Sonia.
The probability of solving the question by Ravi, Mohit and Sonia are 30%, 25%
and 45% respectively. The probability of making error by Ravi, Mohit and Sonia

are 1%, 1.2% and 2% respectively.

1232/(Set : D)
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Based on the above information, answer the following questions :
(i) Find the total probability of committing an error in solving the question.

(ii) If the solution of question is checked by teacher and has some error, then
find the probability that the question is not solved by Ravi.

38. A Bl R TF M & oI<Hid T 9 o1 91 1 Ses qo Bod HAd: AT ra|

U MR & AR ) HHfiad 9991 & SaX &g ¢

() rINRD I @Egx% W & [ 1
(i) 9% B AT VB RAX x & W § [ 1
1232/(Set : D) P.T.0.
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(iii)ﬁ@sqi%smgwa@wamﬁaﬁw% 2
T

qﬁx=§¢{$1{lgaﬁrw V SR B, T VT A 99§ S 9 909

H AT AHT &, T G & AT T A & AT F AW 7 Hio@ 2

Let a cone is inscribed in a sphere of radius R. The height and radius of cone are
h and r respectively. D

On the basis of above information, answer the following questions :
(i) Write the relation between r and R in terms of x.
(ii)) Write the volume V of the cone in terms of R and x.

(iii) Show that volume V of the cone is maximum, when x = g

OR
If volume V of the cone is maximum at x=§, then find the maximum

value of V and find the ratio of volume of cone and volume of sphere, when

volume of cone is maximum.
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